F2EEE THSEEARERFRUMERZRDERICONT

F15D1H#K
SHSEE BELINEZHES
(B) ©%# 3% 4R 1B (E)S# 4% 3A31H
HEBUBERS HEEBUHEATESER
(B A
B ¥ # B e RE =5 EES
NEREEEIA 191,386,500( 193,144,921 1,758, 421| B F#H#16105H
IR fEAEFEFHBIEURA 0 0 0
EANBIUEE 0 0 0
OOFZEIA 0 0 0
= BRERESTHWEIA 200,000 200,000 0
X | AN ZDHDIRA 895,000 904,000 9000 B ERBESE
& OOURA 0 0 0
) ZHFEEREISEINA 1,500 202 -1,298
Z BN B e A | D B & I INER 0 0 0
ES =BT (1) 192,483,000] 194,249,123] 1,766,123
% AGEXZH 145,256,900| 143,730,435] -1,526,465
)} FEEXN 32,740,000 30,835,527 -1,904473|x1ca®. Sk
¥ | X |BBEXE 36,222,000 34,868,296 -1353704|xIc2BE%E. BES
FIREEEZBE 0 0 0
H[ZIFIEZH 0 0 0
ZTDDZH 74,700 74,700
mHEEMEEICLLEIERRAEE 230,000 0] —230,000
EE X HET(2) 214,523,600| 209,508,958 -5,014,642
EEFEEINERE(B)=01)-(2) ~22,040,600] -15,259,835] 6,780,765
mEREEZEHBEIRA 0 0 0
i | UR (MEEREZEEFTMEURA 0 0 0
=% RIEEEEBAZTINA 0 0 0
3 B € & FEFeEIA 0 0
iE | A ZDHDIERZHFEZFICKHIRA 0 0 0
F 5% 5% I = UXAGT (4) 0 0 0
[z e & 2 e % 1,400,000] 1,358,830 —41,170]y7b, T7—vyb, AR
& | X |BREEEBAETEEEZE 0 0 0
3 BEEEERN-REXH 0 0 0
)} T7AF R —RABHEDRFZHE 0 0
X | H[EDOMDEREREFICLLSTH 0 0 0
REGESTHIC) 1400,000] _ 1,358830] 41,170
REBEERIWNTEEE(6)=(4)-(5) —1,400,000] -1,358,830 41,170
e I IR I E RN 0 0 0
Z | IR [ ERHEEESEAZIXA 0 0 0
) RHEAEEIUIRA 0 0 0
BREAMEIEFTENIA 0 0 0
| A [ZDHDFEENZLDIRA 0 0 0
) eI EERARA 281,600 281,600 0
bl Z DD &N AT (7) 281,600 281,600 0
) REEEEEEAETEEESXH 0 0 0
12| X | EHEEXH 0 0 0
& BREAMIIEEXRH 0 0 0
5 | B [Z0hDFEENI-LS5TH 0 0 0
4z BIEEXH 422,400 422,400 0
53 Z D0 & &) % &t (8) 422.400 422.400 0
TN LB 2 N % =28(9) = (7)—(8) -140,800]  -140,800 0
FiEEXH (10) 1,070,000 0] -1,070,000
LB 2N 28 ar (11)=(3)+(6)+(9)—(10)| —24651,400] —16,/59,465] _ 7,891,935
[ ESENEL TR 182,662,759| 182,662,759 0
T ARIha 2 iam (11) T (12) 158,011,359] 165.903,294] _ 7.891.935




